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M eeactice ( Pg f‘:{\) Sokve.
Selug ' 11, _27_1:3“4
L 77¥e g2t 2. 477 =64 91 :
3. 67 % - 4. 2% =128
: . 13. 256 + Y64 =27
5, 54*»,;;; 6. 32" =64 256+J64
v 1
7 gBx__ o= G
T Z7=37 8. 4" =1 15.8(2x — 1)’ = 125
9.3 122 10. 3(5"*H =15 :
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Fi ndthevelue ofx. Round to the nearest bundredsh,

L ¥=125 2. 107%=7
3,4%=15 4, 9% - 568

5, ©7Y¥=2.08 6. 27=6

X .

7 §3=26 8. 2 =10
Solvefyrx. Round to the nearest bundyedth.

g, =17 10, 177 = 196%-2 -
Dh. 20345 = 278% 7 12, 063 *=5*
13, 7 %2%= 572 14. 485 x §¥* 2 =12% "1
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12. 27°(9% 1y = 3+

14, (92:-— 1)3 (33x )Z _ 813
(2 7x+ 2)4
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ie. 84x(~j =16*
4) .




